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Year 10 Mathematics March 2008
Pathway A B C Test
Time allowed: 55 minutes

‘Section A Surds (20 marks)

1-6 Multiple Choice (1 mark each)

1

J18.179 correct to 2 decimal places is:

A 326.85
B 426
C 415
D 427

Which of the following surds, when
simplified, will equal 7 NEYE

A V147

B 441
Cc 21
D

J63

(2 +1) is equal to:
A 3

B 2v2+5

¢ 242+3

D 3+42

275 - 412 is equal to:

A -2J63
J150 —+/48

B
C 645 —1244
‘D. 243

-5t Catherine’s Year 10 Pathway A,B,C march test

Name:

113(+3-245)  equals?

A

B
C
D

Nl

1143 - 22415
33-2215
1143 -228
1143 - 22415

expressed with a rational

denominator is:

A

B

o

4
47
J28

7
a7
7



Simplify the following:

() V50+3v32 @
(b) 724 -3454

®)
Simplify the following: _
(2) 24/6x443 (a)
() 645 x+10+32

®




Expand the following and simplify where
appropriate: _

@ V7(v2+347)

(b) (25+3)2V5-3)

1

(b)

10

Express the following fractions in simplest

form with a rational denominator:
1

© 2m

(@)

(b)




Section B Data (13 marks)

I-4 Multiple Choice (1 mark each)

1

The difference between the mean and
mode of 30,60,50,30,70 is

A 2

B 12
¢ 18

D 20

For the scores 8,10,12, 1:5, 18,20,24
the interquartile range is

A 16
B 15
c 10
D 20

The range of 10,12,x,14 and 16 is 12
The value of x could be

A 22
B 28
C 13

D 2

Five gitls in a tug of war team have a
mean mass of 50Kg. A sixth girl joins
the team and the mean is now 60Kg.
The mass of the new girl is

A 55Kg
B 70Kg
C. 110Kg
D  90Kg



5 The number of pushups per day done by Alice was recorded and organised into a stem and
leaf plot as shown.
. Stem Leaf o
a) For how many days were results recorded? _- 4 25 1
5 0245777
6 356889
b) What is the Modal number of pushups? 7 456 i
8 134
¢) What is the Range of pushups done by Alice? ? 0 g 1
6 a) Place this data from Question 5 into this grouped frequency distribution table using 2
groups 40-49, 50-59 etc. and complete the table.
Class - C?’as,.sf jeentse | Frequency Freq X Score | Cumulative Frequency
40-49 |
50-59 |
60-69 |
70-79 i
80-89 |
90-99 |
100-109 |
b)  Usc this table to calculate the mean number of pushups done by Alice each day. -2
2

¢)  On the graph paper supplied construct a cumulative frequency histogram.
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Section C Coordinate Geometry (12 marks)
Multiple Choice (5 marks)

1 A line that is perpendicular to another
line with gradient -4 has a gradient of

E -1
F 4
g 1
4
g _x
4

QUESTIONS 2 to 4 refer to the

graph below
\{\y
6% £0,0)

e

The length of PQ is closest to:

A 6.8 units
B 45 units
C 9 units

D 6.7 units

i ) }
The gradient of the interval PQ is:-

O
2
g L
2
¢ 2
D -2

" The midpoint of the interval PQ is:

A 3,6 *{
B0, 0
¢, 053 } , 1 i

D asd .

A is the point (2,6) and C the midpoint
of AB is (0,2)
The coordinates of B are:

A (14
B (22
¢ (22

D (24



6 The vertices of a triangle are A(-3, -2), B(3, 1)
and C(0, 4). a)

a) Plot and label these points on the number
plane given and draw the friangle.

B) Find the lengths of the 3 sides AB, AC |
and BC. )

-

¢) What type of triangle is it? (give reasons for
your answer)

|

|

i




1-6 Multiple Choice {I mark each)

i

Year 10 Mathematics March 2008

Pathway AB C Test
Time allowed: 55 minutes

'Section A Surds (20 marks)

JI8179 correct to 2 decimal places is:

A 32633

® 426

/

‘Which of the following surds, when

simplified, will equal 7+/37
& a7
B 441
c 21
D J&

(2 +1)? is equal to:
A 3 ,
B 24245

© z+3
D 3+42

ML.mWIP&M is equal to:

A 263
B J150-448
C 65124

D) 23

/

/

5

6

St Catherine’s Year 10 Pathway A,B,C march test

Name: s\\h.w TEL CoPY

JownTIonNs .

1V3{{3-245)  equals?

A 11/3-22415

(® 3-245

C 113-2248
D 113-22415

w expressed with a rational

denominator is:
A
4
B 47
c 28
7
® 47
7

/

Simplify the following:
(@) 50+332

(b) 24 —-3/54

® 76xEZ + 3x (e JZ

= SFZ A VZ

= (42 /

\Y

pd

Adu “WIEAIE - Nuxraulmen.ulnﬂ

2

=7 2%JC- ZXBRIL
e \uJ6- 430

5>

- ez /

Simplify the following:
@ 246x43

() 6v3x10+32

@ < 3%

E wvhai&lvnmlm

= gX3xFZ

= MHZ , .r\

Quu\\ ®®+WH‘M

= 2128

s 24E \

= g
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The number of pushnps per day done by Alice was Tecorded and organised into a stem and

leaf plot as shown
- Stem | Leaf ‘Appendix6 BV I15 W-.mn_ paper
2) For how many days were results recorded? L 4 25 1 '
) d 5 0245777 T [
. 6 356889 \ QP,PM el alwdadeal Wcbod
Eﬂwﬁﬁﬁogom&ugwﬁomwﬁuﬁ% ﬂq 7 456 1 ew.; 1a¢ 5 .Ea&. viusu &P¢
8 134 g S
) What is the Range of pushups mopoggooo \ 9 o 1 N
10 ol
5 _ ol
s .nut
1
T
a)  Place this data from Question 5 into this grouped frequency distribution table using 2 il
groups 40-49, 50-59 etc. and complete the table. ) T 7
o3
Class Qﬁm\ ¢ | Frequency Freq X Score | Cumulative Frequency by /
v th- -
Gods | s | = | o | Z ] i /
(5059 7% [ 1 7 285 | 4 ] oyt ke o
[60-69 . Jes | | _© [ z10_ | 15 il € et " Ei
. 70719 7% | 1 = 2| = — | &
I'80-89 T 65 [ | 3 T s | 21 | e -
[96-99 T ||t /1 T 27 | s £ I A —
[100-109 | { S/ | T | ws ~\ um\\\/i " \. T
T+
b)  Use thistable to o&a&wﬁﬁaﬂnggﬁdﬂo&vﬁwﬁvw%ﬁmgb.mooamoﬁmm%. 2 X . clee Lk Jof | ok [ a- [ de
(Ft =23 S .
- ) I deAtio
v Aice ik an antrade of &7 ?a(sﬁ“ e dlowy 5
¢)  Onthe graph paper supplied construct a cumulative frequency histogram.
/ ,
I
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